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8. Diagnostic Chart with Trouble Code

I: TROUBLE CODE 38 — TORQUE CONTROL SIGNAL —
DIAGNOSIS:

The signal circuit is open or shorted.
TROUBLE SYMPTOM:
Excessive shift shock.
WIRING DIAGRAM:
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811 : CHECK DISPLACEMENT OF THE
VEHICLE.

. Is the vehicle 2200 cc engine?
Ges> : Go to step 8I2.
. Go to step 814.
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8. Diagnostic Chart with Trouble Code

AUTOMATIC TRANSMISSION AND DIFFERENTIAL

812: CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

8l14: CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

1) Turn ignition switch to OFF.
2) Disconnect connectors from TCM and ECM.

3) Measure resistance of harness between TCM
and ECM connector.

Connector & terminal
(B54) No. 21 — (B135) No. 17:
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. Is the resistance less than 1 Q?
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: Go to step 8I3.

: Repair open circuit in harness between
TCM and ECM connector.

1) Turn ignition switch to OFF.
2) Disconnect connectors from TCM and ECM.

3) Measure resistance of harness between TCM
and ECM connector.

Connector & terminal
(B54) No. 21 — (B84) No. 78:
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. Is the resistance less than 1 Q?
: Go to step 8I5.

. Repair open circuit in harness between
TCM and ECM connector.
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813: CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

815: CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

Measure resistance of harness between TCM and
ECM connector.

Connector & terminal
(B54) No. 13 — (B135) No. 16:
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. Is the resistance less than 1 Q?
. Go to step 8I6.

. Repair open circuit in harness between
TCM and ECM connector.
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Measure resistance of harness between TCM and
ECM connector.

Connector & terminal
(B54) No. 13 — (B84) No. 79:
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. Is the resistance less than 1 Q?
. Go to step 8I6.

. Repair open circuit in harness between
TCM and ECM connector.
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8. Diagnostic Chart with Trouble Code

816 : CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

818 : CHECK OUTPUT SIGNAL EMITTED
FROM TCM.

Measure resistance of harness between TCM con-
nector and chassis ground.

Connector & terminal
(B54) No. 21 — Chassis ground:
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. Is the resistance more than 1 MQ?

: Go to step 8I7.

: Repair short circuit in harness between
TCM and ECM connector.
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817 : CHECK HARNESS CONNECTOR
BETWEEN TCM AND ECM.

Measure resistance of harness between TCM con-
nector and chassis ground.

Connector & terminal
(B54) No. 13 — Chassis ground:
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. Is the resistance more than 1 MQ?
: Go to step 8I8.

. Repair short circuit in harness between
TCM and ECM connector.
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1) Connect connectors to TCM and ECM.
2) Turn ignition switch to ON (engine OFF).

3) Measure voltage between TCM connector ter-
minals.

Connector & terminal
(B54) No. 21 (+) — (B55) No. 19:
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. Is the voltage more than 9 V?

: Even if “AT OIL TEMP” lights up, the
circuit has returned to a normal condi-
tion at this time. A temporary poor con-
tact of the connector or harness may be
the cause. Repair harness or connector
in the TCM and ECM.

: Go to step 8I9.
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8. Diagnostic Chart with Trouble Code

819 : CHECK OUTPUT SIGNAL EMITTED
FROM TCM.

Measure voltage between TCM connector termi-
nals.

Connector & terminal
(B54) No. 13 (+) — (B55) No. 19 (-):
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. Is the voltage more than 9 V?

: Even if “AT OIL TEMP” lights up, the
circuit has returned to a normal condi-
tion at this time. A temporary poor con-
tact of the connector or harness may be
the cause. Repair harness or connector
in the TCM and ECM.

: Go to step 8I10.
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8110 : CHECK POOR CONTACT.

: Is there poor contact in torque con-
trol signal circuit?

: Repair poor contact.
. Go to step 8I11.
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8111 : CONFIRM TROUBLE CODE 38.

. Replace ECM with a new one. Does
the trouble code appear again, after
the memory has been cleared?

: Replace TCM. <Ref. to 3-2 [W22A0].>
: Replace ECM. <Ref. to 2-7 [W15A0].>
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